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EFAT | ATH| WS | mE | ® wauE| 25 an = 4241 z 2.71 0.00 | 7 = 25 6 41 0.0 0.0 13 = A = 42410 wesssnen 0
ER | ATH| BE | Rk | % w25 A ® 4241 > 0.27 000 7 & 19 10 4 0.0 0.0 0.3 ) bl i 42810 soumsensn 0
EFAT | ATH| NS | mE | B w25 &0 " 4241 ) 0.33 0.00] 6 & 18 12 41 0.0 0.0 0.3 = A = 42410 wesnenen 0
EFA | ATH| mE | Bk | % wiiox| 25 e = 4241 A 5.64 0.00 | 205 = 19 11 39 0.0 0.0 1.8 ) bl i 42435 spumsensn 0
EFAT | ATH| NS | mE | B waE| 25 8 = 4241 & 2.93 0.00 | 46 3 23 [ 39 0.0 0.0 [N = A = 42401 wumssnen 0
EFA | ATH| mE | Bk | % wiiox| 25 A ) 4241 ) 5.50 0.00 | 148 [ 24 16 40 0.0 0.0 1.5 ) bl i 42435 spumsensn 0
EFAT | ATH| NS | mE | B waiE| 25 8 = 4242 % 316 0.00 | 102 3 25 8 2 0.0 0.0 [ = A = 42420F  wemssnen 0
EFA | ATH| mE | Bk | % wonE| 25 | e @m) || & 4242 1 15.83 0.32 | 582 [ 24 9 43 0.0 = 0.3 3.8 ) bl i 0
ERA | ATH W& Mg | # BRAIE 25 1B (EH) Eid 4243 ) 4.41 0.09 110 La 26 12 40 0.0 Eid 0.2 2.1 Eiid 2l Eid 0
EFA | ATH| mE | Bk | % wonE| 25 | e @m) || & 4243 1 3.46 007 | 113 [ 29 15 40 0.0 = 0.2 1.4 ) bl i 0
EFAT | ATH| NS | mE | B waiE| 25 an = 4243 = 12.69 0.00 | 359 3 31 14 41 0.0 0.0 1.0 = A = 42420F  wemssnen 0
EFA | ATH| mE | Bk | % wior| 25 | @R || & 4244 = 8.27 017 | 109 [ 26 13 42 0.0 = 0.2 2.3 ) bl i 0
EFAT | ATH| WS | mE | B waow| 25 8 = 4244 ~ 1.85 0.00 | 39 3 30 10 2 0.0 0.0 0.8 = A = 4230%  wussenen 0
EFA | ATH| mE | Bk | % wiwE| 35 A ) 4251 1 6.00 0.00 |_621 & 2% 19 37 0.0 0.0 0.9 & A ® 42525 wrumuenen 1
ERA | ATH W& Mg | # BHIME 35 1B (EH) Eid 4252 ) 25.46 0.51 | 2,827 & 25 8 37 0.0 Eid 0.3 3.0 Eid 2l Eid 2
ER | ATH| e | Rk | % wiss| 25 A ) 4254 0w 3.35 0.00 | 120 = 24 36 37 0.0 0.0 0.8 ) bl i 42800F  soumsensn 0
EFAT | ATH| WS | mE | B waE| 25 w8 = 4254 i 1.56 0.00 | 67 3 20 33 37 0.0 0.0 0.6 = A = 42401 wemsenen 0

434,74 25,390

E1) AR - RRIEBER ETRIE LEWNENEERFEL L (CHELBROBTHY . RIROEMEFRELBENHD.
E2)  HAHME. BRETERRLNSHNIOPLETOSTICET SHMTHY . RARGELEHLGENHELEZBERETH S,
E3)  BHEEE. SHNEEEXEHERLSCHEERORFTYNEDETHMAFTOERTHY . RANIHLBER G EACHEL-BRETHS.
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